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 : 12 . 
4.6.  

m1=10   V=300  .   m2 =200  
, =25 . -

, ? ,  
. 

 : 4,2 . 
4.7.  m1=10  m2=15 -

 L=2 -
. =600 . 

,  
. 

 : 16 . 
4.8. =8 , -

 L=1,8 ,  m=4 . -
,  

=30? -
, . 
 : 444 . 
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4.9.  m=10 ,  V=600 , -
=5  ( . -

). , , ,  
? 

 : 7,2 . 
4.10. , , 

,  
, -

.  -
,  m=5 ,  

=0,5 ,  V=500 . 
,  

 
? 

 : 61 . 
4.11. -

=3  
 m=8  ( . 

). , 
, ,  h=10 . 

  : 532 . 
4.12.  10 -

 1,8 .  
,  600 . 

 : 30 . 
4.13.  1,6·10-25  

2,4·10-25 . ,  
 18 .  

 : 12 . 
4.14. .  

.  
, -

,  0,032 .  
  : 24 ; 8 .  
4.15.   2   3   

 8  4 . -
.  

 : 86,4 .  
4.16. -
.  V1=2 ,  

V2= 4 .  
 V1  1  .   

? 
  : 1,25. 

h 
m 

M 
V
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4.17.  m1=2 ,  5 ,  
 m2=8 . , .  

-
, . 

  : 1 ,  0,8.  
4.18.  2  8 .  

1=10 .  
. -

.  
  : 16 ; 16 . 
4.19.  m1=200 ,  V1=10 , 

 m2= 800 .  
.  ?  
  : -6 ; 4 . 

4.20.  m=1,8  
.  

 w=0,36 .  
. 

  : 16,2 . 
 

5.  

, ,  
1.  – ,   

N  = 6 1023  ( ). N  – . 
2.  ( ) 

 = m N , 
 m  – . 

3.  

 = 
AN

Nm
, 

 m – ; N – . 

4.  

N = N = ANm
m
m

0
. 
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5.  

RT
m
kTV 33

0

, 

 k – , R –  (R=k NA),  – -
. 

6.  

kTiE
2

, 

 i – . 

6.  

 = m/V = n·m , 
 V – ; n = N/V – . 

7.  

nkTp ,  2
03

1 Vnmp ,  nEp
3
2

, 

 p – . 

8.  ( -
): 

P·V = RT = (m/ )RT. 
10.  

constpV , constTV 1 , constTp
1

, 

 
i

i 2
,  i  – . 

 
 

  -
 n1=4·1025 -3. , -

 0,052  0,096 .  
,  2 .  

. -
-T. 
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=
2
i

, 

 i = 5 – ;  
k – ;  – .  

-
: 

,

,,
ik

E
24123103815

1910610520212
1 , 

,

,,
ik

44523103815

1910610960222
2 . 

=n  
: 1=n1 1=4 1025 1,38 10-23 241=1,33 105 . 

-
: 

;RTVp 111  (1) 

.RTVp 222  (2) 

 (1)  (2) ,  V1 = V2, : 

2

1

2

1 . 

 

,, 55

1

2
12 10462

241
44510331 . 

 (1) 

.
.
.

P
RTV 30103

10462
4453182 32

5
2

2
2  

,  

.VV 15
2
2

3  
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. 
 
 
 
 
 
 
 
 
 
 
 
 

 

5.1. ,  
.    

-
,   3  ?   

 
? 

 : 3; 1,73. 
5.2.  5  106  

,  
 0,0796  0,0923 . -

?  
. . 

 :  1,16 ;  
              5,8 . 
5.3. 2 ,  

. , 1=550 , 
V1=9·10-3 3,  

 720 .  
. -

 V-T. 
 : 0,0072 . 
5.4. 3  =1,25 3 ,  

 1,1·105  1,6·105 ,  
. -

. 
 : 297 ; 432 ; 46 . 
5.5. , -

. ,  

,  

1 

2 

3 

445 

·105,  

2,46 

1,33 

241 
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-
 1,41 . ?

 : 2,64. 
5.6.  20 -
 2 .  5 . -

 0,038 .  
. 

 : 0,45. 
5.7. ,  370 ,  

, -
 4 .  

.  
. 

 : 440 . 
5.8.  3  

 105 , . , -
 

0,0647  0,0863 . ? -
,  ,   

? -
. 

 : 1,33·105 ; 369 . 
5.9.  30 , -

,  
493  .  ,  ,   

 0,78  ( ).  
  . 

 : 29 . 
5.10.  

1 =400   7  ,   
 4 . -

. . -
-

? 
 :1,7 , 489 , 597 . 
5.11. , -

 5 . -
?  

? 
 420 . 

 : 0,0325 ; 5. 
5.12.  1=500  ,  1= 250   

V1=0,5·10-3 3 .  
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V 

1 

2 
3 

4 

 

,  
 n=1,3 .  

 V2 . 
 : 3,4 ; 0,84 . 
5.13. . 

.  
-

, ,  3 ? 
 : 1,39. 
5.14.  m1=7, -

. ,  
 1,41 .  

? 
 : 2,64. 
5.15.  V1=5·10-3 

 V2=8·10-3 3. -
. , 1=800 .  

. 
 V-T. 

 : 0,023 . 
5.16. , -

, =400 .  
?  

,  
 300 ? -

-T. 
 : 0,0164 ; 1,9. 
5.17. -

, . 
,  4 .  

? 
 : 0,61. 
5.18. 5  

, -
,  

, -
. , -

1=12 105 , 
 

 3 , 
-

 V3=24 , -
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4=2 10-20 .  
. 

 : 427 . 
5.19. ,   

1= 120 , , . -
,  320 , -

-
 430  470 . . -

 V-T. 
 : 17  19 . 
5.20.  m1=7   m2=11 -

=290 =1 .  
, .  

 
? 

 : 1,5 3; 1,25; 1,2.  
 

6.  

, ,  
1.  

RTiRTmiU
22

. 

2. : 

  
2

1

V

V

dVPA ; 

  TRV ; 

  0 ; 

  
1

2

V
VlnRT . 

3. : 

  ( ) 
dT
dQ

, ; 
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dTm

dQ
, ; 

  
dT

dQ
, . 

 Ri
V 2

. 

 RRicp 2
. 

 Q – . 
4. : 
  AUQ ; 

  UQ ; 

  AQ ; 

  AUQ ; 

  0AU . 

 
, 1=0,5  

1=350 ,  
V1=1  V2=2 , ,  

 V3=3 . : 1) , -
; 2) U; 3)  

 Q. 
 

-
: P1V1= RT1.  

 = ,
,

,
RT

VP 1720
350318

101050 36

1

11 . 

1. U1=0,  1 RT1 n
1

2

V
V

= 

0,172 8,31 350 n
1
2

= 345,2 . :  

Q1 = U1 1 = 0+345,2 = 345,2 . 
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2. U2 = 
2
i

R( 3 2),  i=5 -

 ( ). -

: U2 = 2
i

RT3 RT2)= =
2
i

3V3 

- P2V2). . 3 = 2, U2 = 
2
i

2 (V3 – V2). 

1V1 = 2V2. 

 56

2

1
12 1052

2
11050 ,,

V
V

. 

U2 = 
2
5

2,5 105(3 10-3 - 2 10-3) = 625 . 

2 =  2(V3–V2) = 
= 2,5 105(3 10-3 - 2 10-3)=250 .  Q2 = U2 2= 625 + 250 = 875 . 

, : 
 = 1 + 2 = 345,2+250 = 595,2 . 
U = U1 + U2 = 0+625 = 625 . 

Q = Q1+Q2 = 345,2+875 = 1,22 103 .  

 

6.1. 12  2 -
 10º .  104 . -

? 
 : 4,1·103 . 
6.2.  m=0,2  

 T=280  2 . : 
1)  A, ; 2) -

U; 3)  Q, . 
 : 1,152·104 ; 0 ; 
             1,152·104 . 
6.3.  14  105  

 27º .  5 
. : 1) ; 2)  

; 3) ? 
 : 1500 ; 12,5 ; 12,5 . 
6.4. -

 T=300  n=3 . ,  
, , .  m  200 . 
 : 273,8 ; 273,8 . 
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6.5.  10 -
 105 . , -

 5 ? 
 : 104 . 
6.6.  

 Q=800 . ,  
=300 , =0,4 . 

 :  2,23 . 
6.7.   3  -

 27°  3 . -
 25 . : 1) ; 2) 

, . 
 : 2500 ; 16,5 . 
6.8.  

 m=5 ,  T=290 ,  
 3 . 

 : 6619 . 
6.9. 10  3·105 -
 10° .  

10  .  :  1)  ,  ;  2)  -
. 

 : 7,93·103 ; 1,84·103 ; 7,5·103 . 
6.10.  12 ,  

 50° ? 
 : 545 . 
6.11.  2   105 .  

, : 1)  
; 2) ? 

 : 700 , 500 . 
6.12.  40  16  40°  628,5 . 

:  -
? 

 : . 
6.13. 2 -
 50° . : 1) ; 2)  

; 3) , . 
 : 2493 ; 831 ; 
             3324 . 
6.14.  2,1 .  

. .
 : 600 . 
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6.15. -
 157 . ?

 : 549,5 . 
6.16. ,  5 ,  2·105  

 17° . .  
 197 . ? 

 :  57 . 
6.17.  Q,  

,  
U   –  ?

 : 5/7; 2/7. 
6.18.  7   10° -

.  
. 

 : 13,2 ; 39,6 . 
6.19. 1  100°  

. : 1) ,  
; 2) ; 3) . 

 : 3,32·106 ; 2,49·106 ; 
            8,31·105 . 
6.20.  10 2 

 1  1 . : 1) -
,   10° ;  2)   

? 
 : 10,4 ; 3 . 
 

7.  

, ,  
1.  A

Z , 
 – , ; 

Z – ,  
; 

 – ,  
, . ( ). 

 – Z = N – . 
2. : 

: 1
1  : 1

0n  

: 0
1  : 0

1  
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: 4
2

4
2  : 0

1  

: 0
0  

3.  

np MNmZmm , 

 – . 

4.  
2mE , 

 – .     
                                                                               

m,E 5931 , 
m – .;  – . 

931,5 . – ,  1 . 
5. ,  ( )  

4321
2 mmmmcE , 

 m1  m2 – , , m3  m4 – , 
. 

6.  
. 

 
 

 
 4

2  ( ) 2
1 -

 ( ) 3
1 : 4

2
3
1

2
1 . 
, ,  

,  W  1 . 
 

,  
A
Z  Z . 

: 

A
Z

4
2

3
1

2
1 . 
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 (  
): 1 + 1 = 2 + Z.  Z = 0. 

 ( -
):  2 + 3 = 4 + .  = 1. 

 1
0

1
0 nXA

Z . . 
,  

1
0

4
2

3
1

2
1 n . 

. 1 ( ) : 
m1=2,014101 ., m2=3,016049 ., m3=4,002603 ., m4=1,008664 

. : 

 = 931,5 [(m1+m2) – (m3+m4)] = 931,5 [(2,014101+3,016049) – 
 – (4,002603+1,008664)] = 931,5 0,01888 = 17,6 . 

:  = 17,6 106 1,6 10-19 = 28,14 10-13 . 

 1  N= 23
27

3

3
1051

106610026034
101

,
,,m

. . 

 W= N  = 1,5 1023 28,14 10-13 = 4,22 1011 . 
:  

10 . 

 

: 
1. -

. 
2.  

. . 1) ,  ( ) . 
7.1. 77 BeXpLi . : -1,64 . 

7.2. 109 BeXnBe . : 6,82 . 
7.3. 107 BXLi . : -2,79 . 
7.4. 1416 NXO . : 3,11 . 
7.5. 6Li XH 2 . : 22,4 . 
7.6. 710 LiXn . : 2,79 . 
7.7. 129 CXBe . : 5,70 . 
7.8. XLi7 . : 17,4 . 
7.9. 99 BnXBe . : -1,84 . 
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7.10. XBen 912 . : -5,70 . 
7.11. 14213 N . : 5,32 . 
7.12. nXHH 32 . : 17,6 . 
7.13. n32 . : 3,26 . 
7.14. 69 LiXBe . : 2,13 . 
7.15. 1714 . : -1,83 . 
7.16. 322 . : 4,02 . 
7.17. 726 LiXHLi . : 5,02 . 
7.18. 1029 . : 4,36 . 
7.19. 1619 OXF . : 8,12 . 
7.20. 423 . : 18,3 . 
 
 
 
 

 

1. . . .: , 1994. 542 . 
2. . : . . .: , 2008. 671 . 
3. . : . . .: , 2008. 

447 . 
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 1 

 

,  , . ,  , . 

n 1,008664 10 10,013533 

H1 1,007925 9 9,013328 

H2 2,014101 10 10,012937 

H3 3,016049 12 12,000000 

He3 3,016029 13 13,003354 

He4 4,002603 14 14,003241 

Li6 6,015122 N14 14,003074 

Li7 7,016004 16 15,994914 
7 7,016929 17 16,999131 
9 9,012182 F19 18,998403 
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 2 

 

   G=6,67 10-11 2 -2. 
 = 3 108 . 

  = 8,85 10-12 . 
    = 4 10-7 . 

 h = 6,625 10-34 . 
 k = 1,38 10-23 . 

 N  = 6 1023 1/ . 
 m = 9,1 10-31 . 
  = 1,6 10-19 . 

 1,673 10-27 . 
 1,675 10-27 . 

 6,64 10-27 . 
 R = 8,31 . 

 g = 9,8 2 . 

 3 

 

1 . = 1,66 10-27 . 
1  = 1,6 10-19 . 
1  = 106 . 
1  = 10-3 3. 
1  = 105 . 
1 . = 133,3 . 
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